Name: Date:

(1) Whole Numbers 25

Suggested Time:
30 min

(5 X 2 points = 10 points)

Fill in the circle next to the correct answer.

1. Which of these is the word form for 215,0787
(A) two hundred fifteen seventy-eight
two hundred fifteen thousand
(© two hundred fifteen thousand, seventy-eight

@ two hundred thousand fifteen and seventy-eight

2. What is the value of 6 in 563,2097

(A) 600,000 60,000  (© 600 D ¢

3. Which of these is the least?

(A) 1,000,000 909000 (© 789987 (D) 99999

4. Which of these is 3,000 more than 568,2107?

(A) 868,210 508210  (© 571,210 (D) 568,510

5. Estimate 5,215 + 2,783 by rounding each number to the
nearest thousand.

(A) 6,000 7,000 © 8,000 ©® 9,000

© 2009 Marsha‘ll Cavendish International (Singapore) Private Limited. Copying is permitted; see page ii.
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Name: Date:

(5 X 2 points = 10 points)

Write your answer in the space given.

6. a. Write 6,326,508 in word form.

b. Complete to express 4,781,020 in expanded form.

4,781,020 = + 700,000 + 80,000 + 1,000 +

Write >, <, or = in each Q
7. a. 354,819 O 354081 b, 1782356 O 928,339

Estimate each sum or difference by using front-end estimation
with adjustment.

8. 2,691 + 8,173 + 4,724 9. 7685 — 3,768

) Private Limited. Copying is permitted; see page ii.
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10. 2,937,045 3,437,145 4,437,345
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Name: Dute:

(Question 11: 2 points, Question 12: 3 points)

Solve. Show your work.

1. There are 9 passengers in each mini-bus. There are 6,157 mini-buses.
Estimate the total number of passengers.

12.  Mr. James has 8 crates of mangoes. There are 3,548 mangoes in total.
Estimate the number of mangoes in each crate.

© 2009 Marshall Cavendish International (Singapore) Private Limited. Copying is permitted; see page ii.
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Name: Date:

Ve s Whole Number o5
" Multiplication and

Division

(5 X 2 points = 10 points)

Fill in the circle next to the correct answer.

1. Multiply 65 by 80.

(A) 520 5,200 © 52000 (D 52

2. Which of these is a reasonable answer for 3,652 X 397

(A) 86,428 183,428 (C) 142,428 (D) 242,428

3. Which of these will result in the answer 237
(A 23,000 + 10 23,000 + 100
© 2,300 + 100 (D) 230,000 + 1,000

4. Divide 4,825 by 23.

®‘29R18 ® 117R1  (© 203R25 (D) 209R 18

5. Evaluate (45 — 21) + 8 + 2.

@A) 5 ® 7 © s © 12

) Private Limited. Copying is permitted; see page ii.
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Name: Date:

(5 X 2 points = 10 points)

Multiply. Show your work.

6. 2,356 X 700

7. 8,093 X 56

Solve. Show your work.

8. A rectangular wall measures 1,620 centimeters by 68 centimeters.
Estimate the area of the wall.

© 2009 Marshall Cavendish International (Singapore) Private Limited. Copying is permilted; see page ii.
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Name:

9.

10!

Date:

3,812 people are seated in a concert hall. There are 48 seats in each row.
Estimate the number of rows of seats that are occupied.

Tom had $8,153 in his bank account. He deposited another $847 into the
account. He then used all his money to buy 100 identical cameras. He sold the
cameras for $150 each. How much did Tom earn from selling each camera?

© 2009 Marshall Cavendish International (Singapore) Private Limited. Copying is permitted; see page ii.
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Name: Date:

(Question 11: 2 points, Question 12: 3 points)

Solve. Show your work.

1. = M. Jensen bought a set of furniture for $5,645. He paid $500 at first.
He then paid the remainder in equal payments, every month for 7 months.
How much did he pay each month? '

12. 3 Jody paid $1.60 for each box of 35 beads.

. She has 1,400 beads altogether.
a. How much did Jody pay in dll for the beads?

b. Jody repacks the beads into small boxes with 16 beads in each box.
How many small boxes does she need?

| (singapore) Private Limited. Copying is permitted; see page it.
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Name: Date:

Fractions and Mixed ”
Numbers i

30 min

(5 X 2 points = 10 points)

- Fill in the circle next to the correct answer-.

1. Which fraction has the same value as % + %—?

® 7 ® © 3 ©

N

—
U

39
<!

® 5 ® % ©

2. What is the value of % —

ol|—
—

3. What is 25 + 7 expressed as a mixed number?
4 25 5 2
® 33 7 © 23 ® 55

Which fraction has the same value as 0.657

65 65 13 26
® % ® 5 36 ® &

| (Singapore) Private Limited. Copying is permitted; see page ii.
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5. Mrs. Olive used 1%quqrts of syrup and 51—% quarts of water to make
lemonade. :

dich

How many quarts of lemonade did she make?

hall C

@4 @% ©1 O

© 2009
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Name: Date:

(5 X 2 points = 10 points)

Add or subtract. Express each sum or difference in simplest form.

3 2 1 7
6. Chx 22-&-3'5 b. 35—1—8‘

Estimate each sum or difference by using benchmarks.

7. i 55

Solve. Show your work.

8. Gail baked some cookies. She sold % of the cookies on Monday.

She sold %more of the cookies on Tuesday than on Monday.

| (Singapore) Private Limited. Copying is permitted; see page .

What fraction of the cookies did Gail sell on the two days?

dich

e
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Name:

Date:

Solve. Show your work.

9.

10-

Katie has a roll of ribbon that is 8 feet long. She cuts off 3 feet of ribbon and
the remaining length is cut into 8 shorter pieces of equal length. What is the
length of each shorter piece of ribbon?

An organic farm uses % of the land to grow potatoes and % of the land

to grow spinach. The remaining land is used to grow tomato plants. What

fraction of the land is used to grow tomato plants?

© 2009 Marshall Cavendish International (Singapore) Private Limited. Copying is permitted; see page ii.
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Name: Date:

(Question 11: 2 points, Question 12: 3 points)
Solve. Show your work.

1.  Jenny uses g— gallon of water to water roses.
She uses % gallon less water to water herbs.

How much water does Jenny use to water the roses and herbs?

12.  Julian and Stacey needed 10 liters of water to fill a tank. Stacey filled the tank
with 3 1%— liters of water. Julion poured 1% liters less than Stacey into the tank.

How much more water is still needed to fill the tank?

24 Chapter3 Test Prep
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Name: Date:

Multiplying and
B M | ' B 25
DIVIdI“g FrGCtlons Suggested Time:

and Mixed Numbers

(5 X 2 points = 10 points)

Fill in the circle next to the correct answer.
: . 4 15 . .
i. Multiply E by T Give your answer in simplest form.
3 60 19 20
® 3 ® 2 ® 5

2. Which has the same value as -g— =~ 37

®33 ®58x3 O O

w|—

3. Joe has -g— kilogram of clay. He uses % of it to make a vase.

How much clay is left? |
5 23 2 7
@) 35k ® 5ke © 5k ® sk

4. Daisy has 5%— pounds of chocolate. She uses % of it to bake brownies. How

much chocolate does she use to bake brownies?

@ 2¢1b 22 1b © 32b © 4%

5. Claire picked some apples. She used % of the apples to make jam. She

® 2009 Marshall Cavendish International (Singapore) Private Limited. Copying is permitted; see page ii.

gave % of the remainder to her neighbor. What fraction of the apples did she

give to her neighbor?
® = 5 © % OF;
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Name: Date:

(5 X 2 points = 10 points)

Multiply or divide. Express your answer in simplest form.

5 3 .
6. a. 5§X18 b. 8 12

Solve. Show your work.

7. Jill had % meter of cloth. She cut it into 8 equal pieces. What is the length

of each piece?

8. Tom works 1% hours a day at a café. He is paid $8 an hour. How much

money is he paid in 10 days?

© 2009 Marshall Cavendish International (Singapore) Private Limited. Copying is permitted; see page ii.
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dich

Name:

Date:

Solve. Show your work.

9.

10.

Tyron takes % hour to paint a wall. His brother takes % of the time he takes.

How long will his brother take to paint 5 similar walls?

Susan has $80. She spends % of the money on Monday. She spends the
remaining money equally over the next 5 days. How much money does she

spend on each of the 5 days?

© 2009 Marshall C
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Name: Date:

(Question 11: 2 points, Question 12: 3 points)

Solve. Show your work.

1. Lisa has some clips. jlr— of the clips are pink, % of the remainder are blue, and

the rest are yellow. What fraction of the clips are yellow?

12.  Klein read 30 pages of a book on Monday and —18—01‘ the book on Tuesday.
He completed the remaining JA: of the book on Wednesday. How many

pages are there in the book?

32 Chapter £ Test Prep
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Name: Date:

Algebra 25

Suggested Time:
30 min

(5 X 2 points = 10 points)

Fill in the circle next to the correct answer-

i. What does 8y mean?

@ 8+y ® 8xy © 8+y © 8-y

2. Florence makes y cards in 3 minutes, How many cards does she make in
T minute?

® 5 ¥ © 3 O
3. Divide the sum of 18 and zby 7.

Which is the expression for the above division statement?
18 + 18+ 7

'_—7—5 z

© z+7+18 © 18+z+7

4. What is the value of the expression %’? + 4 when pis 327
® s 12 © 125 © 16

For what value of x will 6x — 3 > 2x + 15 be true?

A x=1 ®) x=2 © x=4 ® x=5

| (Singapore) Private Limited. Copying is permitted; see page ii.
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Name: Date:

(5 X 2 points = 10 points)

Write your answer in the space given.

6. Write the expression for 100 less than the sum of 3 and x.

7. Harris has $60. He spends y dollars. How much money does he have left?
Give your answer in terms of y.

Simplify each expression.

8. a. 15y +2—y+3y+6 b. (z—24)+8+2

Complete with =, >, or <forx=9.

9. a. 4x+3©1_2(%5 b. (100—2x)+2©4><(x+1)

Seolve each equation.

0. a. 18m—52=5m b. 4p+8=12p— 16

44 Chapter5 Test Prep
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Name: Date:

(Question 11: 2 points, Question 12: 3 points)
Solve. Show your work.

1. Cheryl has some oranges. She puts the oranges into p boxes of 3 oranges
each and has 2 oranges left.

a. Find the total number of oranges Cheryl has in terms of p.

b. If p = 6, how many oranges does Cheryl have?

12.  Ernie read 3y + 4 books. Gladice read 4y — 5 books.
a. If y= 3, who read more books?

b. For what value of y will both of them read the same number of books?

© 2009 Marshall Cavendish International (Singapore) Private Limited. Copying is permitted; see page ii.
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Name: Date:

25

Area of a Triangle

Suggested Time:

30 min

(5 X 2 points = 10 points)

Fill in the circle next to the correct answer.

1. Which is the base of the triangle ABC when the height is BZ?

® 7 ®@x O Or

2. In the shaded ’;riangle, which is the base if the height is DC?

B

50 Chapter 6 Test Prep
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Name: Date:

3. What is the area of the triangle?

10 ft

A 482 60 ft2 © sof D) 96

4. Which triangle has an area of 36 cm??

© 2009 Marshall Cavendish International (Singapore) Private Limited. Copying is permitted; see page ii.
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Name: Date:

5. Find the area of the shaded part of the figure.

15 cm

2 cm

6 cm

A) 144 cn? 126 cm2 (© 54 cm? D) 36 cm?

(5 X 2 points = 10 points)

Write your answer in the space given.

6. Draw the height of the triangle.

base

7. Name the base and height of the triangle.

In triangle BCD,

Base:

© 2009 Marshall Cavendish Internationat (Singapore) Private Limited. Copying is permitted; see page ii.
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Name: Date:

8. Find the area of the shaded triangle CDE.
ABCD is a square that has a side length of 24 meters.

A 3 B

9. Find the area of the shaded triangle.

20 cm

10.  Find the area of the shaded port.

8 in. 6 in.

15 in.

© 2009 Marshall Cavendish International (Singapore) Private Limited. Copying is permitted; see page ii.

20 in.
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Name: Date:

(Question 11: 2 points, Question 12: 3 points)

Solve. Show your work.

11. The figure is made up of 3 identical rectangles measuring 8 centimeters by
3 centimeters. Find the area of the shaded part of the figure.

12.  The perimeter of the rectangle is 60 meters. Find the area of the shaded part
of the figure.

12 m

| (Singapore) Private Limited. Copying is permitted; see page ii.
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Decimals

(5 X 2 points = 10 points)

Fill in the circle next to the correct answer.

1-

2-

© 2009 Marshall Cavendish International (Singapore) Private Limited. Copying is permitted; see page ii.
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Which decimal do the shaded parts represent?

ezo
&

()
9

:
¢
0
§
X

Q
Q
Q

LA

7
2
ol
X
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&
&
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WA
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A

9
XK
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L LA
-7/

Date:
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LU Y
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AN
AR R AT
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Sl L LA

LA AL

AN NN
AN NG

What is the place value of the digit 3 in 8.1397?

@ tens tenths @ hundredths

Which of these decimals is the greatest?

@ 21.07 2.107 © 1.973

Round 5.693 to the nearest hundredth.

25

Suggested Time:
30 min

@ thousandths

D 276

®se9  ® 568  ©s7

Write 6.04 as a mixed number in simplest form.

2 1 4
® 6% ® 655 © 6155

® 5.70

64
@ 6700
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Name: Date:

(5 X 2 points = 10 points)

Show the location of each decimal by drawing an X on the number line.

6. a. 0014 b. 0.038

SO TN N U I A T N T T T T T O A O I
hl I f ' I ! ! I [

0.00 0.01 0.02 0.03 0.04

Write each mixed number as a decimal.

18 _ 349
7- a. 000 ——— b. 2—1 00

Order the decimals from least to greatest.

8. 663 36 101 3.178

Complete.

9. 8275 =8+ 02+ +

Solve.

10. A decimal has three decimal places. The decimal, rounded to the nearest tenth,
is 1.6. What is the greatest possible decimal that can be rounded to 1.67

© 2009 Marshall cavendish International (Singapore) Private Limited. Copying is permitted; see page ii.
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Name: Date:

~ (Question 11: 2 points, Question 12: 3 points)

Solve. Show your work.

1. To make fruit punch, Mrs. Casey adds 1,200 milliliters of water to
850 milliliters of syrup. How many liters of fruit punch does she make?
Give your answer in liters.

12.  The height of a vase is 6.2 feet when rounded to the nearest tenth of a foot.
What is the shortest possible height of the vase? Give your answer to
3 decimal places.

© 2009 Marshall Cavendish (nternational (Singapore) Private Limited. Copying is permitted; see page ii.
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hall C:

Name: Date:

Multiplying and

25

DiViding Degimuls Sugg:;c:‘?nnme:

(5 X 2 points = 10 points)

Fill in the circle next to the correct answer.

1. Multiply 2.68 by 8.

A) 2.144 21.44 © 2144 D) 2,144

2. What number belongs in the box?

7.31 X D = 2,193

® 3 | 30 © 300 © 3,000

3. Divide 72.38 by 70.

A) 1.034 1.304 © 10.34 ® 103.4

4. A stack of 4 identical books is 6.28 inches high. What is the height of
30 of these books?

@ 1.57 inches 4.7 inches

@ 15.7 inches @ 47.1 inches

5. Alice ran 5 laps around a track. She ran a total distance of
- 3.65 kilometers. Jim ran 20 laps around the same track. What is

© 2009

(A) 0.73 km 1.46km © 146km (@ 146km

Assessments Grade 5

77




Name: Date:

(5 X 2 points = 10 points)

Find the missing number for each box.

6. a. 3291 X = 32,910

b. 11,845 + 500 = 2,369 +

Multiply.

7. 6 . 8 4
X 7

JUUU

Estimate each sum or difference by rounding to the nearest whole number.

8. a. 23.63+ 153

} Private Limited. Copying is permitted; see page ii.
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Name: Date:

Solve.

9. A piece of rope is 5 meters long. It is cut into 8 equal pieces. How long is
each piece? Round your answer to the nearest hundredth.

10. A bag of flour weighs 15 pounds. A shopkeeper has one bag of flour. She
sells 1.065 pounds of flour every day. How much flour is left after 8 days?

© 2009 Marshall Cavendish International (Singapore) Private Limited. Copying is permitted; see page ii.
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Name: Date:

(Question 11: 2 points, Question 12: 3 points)

Solve. Show your work.

11. Jai bought 2 pounds of grapes for $2.49 per pound and 3 muffins for
$0.75 per muffin. How much did he pay for the grapes and muffins?

12. M. Romero buys 3 chairs at a cost of $27.90 for each chair. Estimate the
least number of $20 bills he needs to buy the chairs.

© 2009 Marshalt Cavendish International (Singapore) Private Limited. Copying is permitted; see page ii.
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Name: Date:

Graphs and Probability |~ 25

Suggested Time:
30 min

(5 X 2 points = 10 points)

Fill in the circle next to the correct answer.

Use the data in the graph to answer questions 1 and 2.

The graph shows the number of adult and teenage customers who visited a shop
from Monday through Thursday.

Customers at a Shop
60

o4
o

N
(@]

N
o

Number of Customers
w
o

10

[EETIRRARI FARTARTISARRITI CRSRANRIRARRRRY ARSTESRRTINRURRATRT]

Tuésdcy Wétd‘nsoy Thﬁrsdoy

Days of the Week

Monoy

1. On which 2 days were there the same number of customers?

@ Monday and Tuesday , Wednesday and Thursday
© Monday and Thursday @ Tuesday and Thursday

2. On which day was there the largest difference between the numbers of adult
and teenage customers?

© 2009 Marshall Cavendish International {Singapore) Private Limited. Copying is permitied; see page .

@ Monday Tuesday

@ Wednesday @ Thursday
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Name:

3.

Total Cost of Wire ($)

Date:

The graph shows the cost of various lengths of wire.

Cost of Wire
72

66

60

54

48

42

36

30
24

18

12

O 1 2 3 4 5 6 7 8 9 10 11 12
' Length of Wire (Yards)

What is the cost of 9 yards of wire?

@ $54 $60 © $66 © $70

Joe has 4 pairs of shoes: white, black, blue, and brown. He has 2 more puairs
of socks than pairs of shoes. Find the number of combinations of pairs of

shoes and pairs of socks that Joe can wear.

@ s ® ¢ © 15 © 24

Chapter1t  Test Prep
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Name:

5'

Date:

A spinner is divided into 10 equal parts. Each part has a prize labeled on it -
a pen, a mug, or a highlighter. The table shows the results of 30 spins.

® 6 2 2 10
3 5 2 10
© 1 5 4 10
®) 4 2 4 10

© 2009 Marshall Cavendish International (Singapore) Private Limited. Copying is permitted; see page il.
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Name: Date:

(5 X 2 points = 10 points)
Complete. Use the data in the graph.

6. George and Henry worked as shop assistants during summer vacation. The
graph shows the amount of money George and Henry made in 3 weeks.

Money Made

503
2 403
g 30 Key
E _E George
o E
= 20 E Henry
5
£ 103

0 1 2 3
Week

a. Who made more money in the 3 weeks?

b. How much more money did he make?

(Singapore) Private Limited. Copying is permitted; see page ii.
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Name: Date:

Plot the ordered pairs on the coordinate grid.

7. (4, 2) and (8, 10)

N W 18 N 00O O O

-_—

) Private Limited. Copying is permitted; see page ii.
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Name: Date:

Complete. Use the data in the graph.

8. The graph shows the cost of various lengths of curtain fabric.
Y
4 Cost of Curtain Fabric
24
21

18

15

Total Cost of Fabric ($)
o

o 1 2 3 4 5 6 7 8
Length of Fabric (m)

How many meters of curtain fabric can you buy with $217

Complete.

9. A shop sells ice cream in 3 flavors: strawberry, chocolate, and vanilla.
The shop offers 2 toppings: peanuts and raisins. Draw a tree diagram
to find the number of combinations the shop can offer.

108 Chapter1t Test Prep
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Name: Date:

Solve.

10. A bag contains 5 white balls, 3 green balls and 4 black balls. A ball is
drawn from the bag 50 times. The ball is put back in the bag after its color
is recorded. The table shows the number of times each color was drawn.

White 15
Green 26
Black ?

a. What is the experimental probability of drawing a black ball?

b. What is the difference between the theoretical probability and
experimental probability of drawing a green ball?

© 2009 Marshall Cavendish International (Singapore) Private Limited. Copying is permitted; see page ii.
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Name:

Date:

(Question 11: 2 points, Question 12: 3 points)

Solve. Show your work.

1.

The graph shows the conversion between feet and yards.

y Conversionr Between
) Feet and Yards -

Measurement in Feet

> X
3 6 9 12 15 18 21 24 27

Measurement in Yards

A rectangular plot of land measures 45 feet by 72 feet. Find the area
of the land measured in square yards.

110

Chaptertl Test Prep
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Name: Date:

£2. At a restaurant, the meat choices are roast turkey, fried chicken, and beef
steak. The vegetable choices are long beans, salad, and broccoli.

a. Ms. Spencer wants to order 1 meat dish and 1 vegetable dish.
Draw a tree diagram to find the number of combinations she can
choose from.

b. If grilled fish is also available, how many combinations can Ms. Spencer
choose from?

© 2009 Marshall Cavendish Intemational (Singapore) Private Limited. Copying is permitted; see page ii.
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Name: Date:

Graphs and Probability |25

Suggested Time:
30 min

(5 X 2 points = 10 points)

Fill in the circle next to the correct answer-.

Use the data in the graph to answer questions 1 and 2.

The graph shows the number of adult and teenage customers who visited a shop
from Monday through Thursday.

Customers at a Shop

60 5 % ’
., 503
g 3
S 403
3 3 Key
% &')6 30 ' Z] adult
?Si R teenager
I
E g E
@ =) 3
e P E
E 1 o _E .......................
0 ’
3 Monday Tuesday =~ Wednesday Thursday
£ Days of the Week
& 1. On which 2 days were there the same number of customers?
d @ Monday and Tuesday Wednesday and Thursday
8 © Monday and Thursday @ Tuesday and Thursday -

On which day was there the largest difference between the numbers of adult
and teenage customers?

@ Monday ‘ Tuesday

@ Wednesday @ Thursday

© 2009
N
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Name:

Date:

3. The graph shows the cost of various lengths of wire.
y
1 Cost of Wire
72
66
60
54
@ 48
2
$ 42
5 36
3
O 30
S
= 24
18
12
6
0 -
o 1 2 3 4 5 6 7 8 9 10 11 12 %
Length of Wire (Yards) ' Z
What is the cost of 9 yards of wire? 3
£
® $54 $60 © s6s ® s70
4. Joe has 4 pairs of shoes: white, black, blue, and brown. He has 2 more pairs =
of socks than pairs of shoes. Find the number of combinations of pairs of
shoes and pairs of socks that Joe can wear. ‘
® 5 6 ©1 O 24 :
5
104 Chaptertt Test Prep
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Name:

5.

Date:

®» 6 2 2 10
3 5 2 10
© 1 5 4 10
® 4 2 4 10

A spinner is divided into 10 equal parts. Each part has a prize labeled on it —
a pen, a mug, or a highlighter. The table shows the results of 30 spins.

Which is the likely set of prizes on the spinner?

© 2009
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Name: PDate:

(5 X 2 points = 10 points)

Complete. Use the data in the graph.

6. George and Henry worked as shop assistants during summer vacation. The
graph shows the amount of money George and Henry made in 3 weeks.

Money Made

50
S 403
> 5
S 30 Key
E _i George
g 20_% 1 Henry
g 103
£ 10

0 1 2
Week

a. Who made more money in the 3 weeks?

b. How much more money did he make?

© 2009 Marshall Cavendish International (Singapore) Private Limited. Copying is permitled; see page ii.
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Name: Date:

Plot the ordered pairs on the coordinate grid.

7. (4, 2) and (8, 10)

N W OO N 0O O O

© 2009 Marshall Cavendish International (Singapare) Private Limited. Copying is permitted; see page ii.
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Name: Date:

Complete. Use the data in the graph.

8. The graph shows the cost of various lengths of curtain fabric.
Y
4 Cost of Curtain Fabric
24
21

N

-

O W o Vv N O o

Total Cost of Fabric ($)

- X

0O 1 2 3 4 5 6 7 8
Length of Fabric (m)

How many meters of curtain fabric can you buy with $217

Complete.

9. A shop sells ice cream in 3 flavors: strawberry, chocolate, and vanilla.
The shop offers 2 toppings: peanuts and raisins. Draw a tree diagram
to find the number of combinations the shop can offer.

| (Singapore) Private Limited. Copying is permitted; see page ii.
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Solve.

10. A bag contains 5 white balls, 3 green balls and 4 black balls. A ball is
drawn from the bag 50 times. The ball is put back in the bag after its color
is recorded. The table shows the number of times each color was drawn.

White 15
Green 26
Black ?

a. What is the experimental probability of drawing a black ball?

b. What is the difference between the theoretical probability and
experimental probability of drawing a green ball?

© 2009 Marshall Cavendish International (Singapore) Private Limited. Copying is permitted; see page ii.
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(Question 11: 2 points, Question 12: 3 points)

Solve. Show your work.

1. The graph shows the conversion between feet and yards.

Y Conversion Between

Feet and Yards
81

72

63

54

45

36

Measurement in Feet

27

18

0 > X
3 6 9 12 15 18 21 24 27

Measurement in Yards

A rectangular plot of land measures 45 feet by 72 feet. Find the area
of the land measured in square yards.

110 Chapter1t Test Prep
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12. At a restaurant, the meat choices are roast turkey, fried chicken, and beef
steak. The vegetable choices are long beans, salad, and broccoli.

a. Ms. Spencer wants to order 1 meat dish and 1 vegetable dish.
Draw a tree diagram to find the number of combinations she can
choose from.

b. If grilled fish is also available, how many combinations can Ms. Spencer
choose from?

© 2009 Marshall Cavendish International (Singapore) Private Limited. Copying is permitted; see page ii.
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Name: Date:

Properties of Triangles

25

and Four-sided Figures [~

30 min

(5 X 2 points = 10 points)

Fill in the circle next to the correct answer.

The figures in this section are not drawn to scale.

1. Find the unknown angle measure in the triangle.

57° 40°

@A) 74° 106° © 123° © 131°

2. Find the unknown angle measure in the triangle.

28° L.

halt C:

© 2009
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Name:

Date:

3. Triangle XYZ is an isosceles triangle. Find the measure of Zec.
Y
\ne . 38°
X f 4
A 142° 120° © 104° © so°
4. Which of these sets of side lengths of a triangle is possible?
@4ft,9ft,5ft 5cm,5cm,10cm
©>6in.,7in.,8in. @3m,6m,3m
5. Triangle ABC is a right triangle and BCD is an equilateral triangle.
Find the measure of Z DAC.
B
D 1
A C
@ 30° 60° © 120° © s0°
126 Chapter13 Test Prep
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(5 X 2 points = 10 points)

Write your answer in the space provided.

The figures in this section are not drawn to scale.

6. ABC and BCD are triangles. Find the unknown angle measure.

B

a
52°

65 30°

7. Triangle ABC is a right triangle.

A

69°

o
B

a. Complete with <, >, or =,

ional (Singapore) Private Limited. Copying is permitted; see page ii.

m/_BAcQ m/ ACB

e

—ba— What-is the difference-in-the-angle measures of £ BAC-and-£LACB?

© 2009
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8. Triangle ABC is a right triangle. Triangle BDE is an equilateral triangle and
Triangle CDE is an isosceles triangle. Find the measure of Za.

B

9. ABCD is a parallelogram where AB // DC. Triangle BCE is an isosceles
triangle. Find the measure of £ ABE.

A

B
>

84°

o
&
B
a
o
o
a
k=)
2
E
5}
=
o
o
=
=
=y
S
=
2
=
E
£
&
2
&
—
[
S
a
D C 8
=
&
@
o
B
=4
2
®
&
g
=
=
©
c
3]
>
®
S
®
b5}
=
o
=3
<3
N
&}
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10. ABCDis a rthombus. Triangle ABE is an isosceles triangle. CE'is a line
segment. Find the measures of Lo and Zb.

E

t (Singapore) Private Limited. Copying is permitted; see page ii.
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(Question 11: 2 points, Question 12: 3 points)

Solve. Show your work.

1. ABC and EFG are triangles. Find the sum of the measures of Za, £5,
/¢, and Zd.

12. ABCEis a trapezoid where AB // EC. ABDE is a rhombus. Find the measure
of £ EBC.

© 2009 Marshall Cavendish international (Singapore) Private Limited. Copying is permilled; see page ii.
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Surface Area and 25
Volume

30 min

(5 X 2 points = 10 points)

Fill in the circle next to the correct answer.

1. How many cubes are used to build the solid?

® 9 ® 10 © 1 © 12

| (Singapore) Private Limited. Copying is permitted; see page ii.

2. Find the total surface area of the outside of the tank. It has an open top.
15 in. // lg
Siml 18 in. a
12-in: S 3

(@)}
()
(@)
S
N
© 2009

(A) 180 in2
© 1116in2 O 1,332in2
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Name:

3.

Date:

Which of these has edges that are 3 times as long as a unit cube?

© 2009 Marshall Cavendish International (Singapare) Private Limited. Copying is permitted; see page ii.
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Name:

Date:

A. The solid is made up of cubes that have edges that measure 2 centimeters.
What is the volume of the solid?
@ 11 cm® 13 cm®
© 88 cm? @ 104 cm?®
5. A tank has water in it at a height of 7 centimeters. How much more water
is needed to fill the tank to the brim?
15 cm jg
" 14em %
(A 2451 28 L
© 5251 © 611
:
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Name: Date:

(5 X 2 points = 10 points)

Write your answer in the space provided.

6. How many cubes are used to build the solid?

>
<

NANAVAVA

>
<
S
~

cubes are used to build the solid.

2 7. Draw the different views of a rectangular prism that is made up of 3 unit cubes.
-g o . L . o L] - L]
;é L] L] L L ] L - L] L ]
.é L L] . - L ] L ] L] .
Z
=1 * . L] L] * o L] L]
.‘g - ° L] . ® L - .
’g o L] L] - - -« L] .
"é‘ * . L] L] L] - L L]
E L] L] . - . . ° L ]
.r‘g - L] L] . L] . Ld L]
I
; . . . . . . . .
?’ - . L] . . ° - L]
E L] L[] L] L] L] L] L] .
% o . . . L] . L ] L ] L)
=
§ . . o L] . . [ ] L :
@ L2 . L] . L * a .
- L] * L ] . . L] L]
L 3 . L] L] . ® . L]
L] *® . L L] . L] L]
L ] - o ° L] e - L]
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Complete.

8. Find the total surface area of the triangular prism.

17 cm

9. The length of a rectangular block of wood is twice its width. The width of the
block of wood is 12 inches. Find the volume of the block of wood.

8.5 in.

10. A rectangular container has sides that measure 9 centimeters by

12 centimeters by 23 centimeters. Joan filled the container to its brim with

| (Singapore) Private Limited. Copying is permitled; see page ii.

water. How much water must she pour out of the container so that only %

of the volume of water is left in the container? Give your answer in milliliters.

i<l

© 2009 Marshall G
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(Question 11: 2 points, Question 12: 3 points)

Solve. Show your work.

1. A tank is %-ﬁlled with water. Water from the tank is used to fill smaller
containers. Each small container has a square base with edges that measure
16 centimeters each, and a height of 5 centimeters. How many small

containers can the water from the tank fill?

1.6m

© 2009 Marshall Cavendish International (Singapore) Private Limited. Copying is permitted; see page ii.
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Solve. Show your work.

12l

A tank measures 30 centimeters by 30 centimeters by 50 centimeters.
It is filled with water from a tap that flows at a rate of 6 liters per minute. |
How long would it take to fill % of the tank with water? Give your answer |

in minutes and seconds.

148

© 2009 Marshall Cavendish International (Singapore) Private Limited. Copying is permitted; see page ii.
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End-of-Year Test
50

Suggested Time:
(10 X 2 points = 20 points) ugg:; :ﬁn e

Fill in the circle next to the correct answer.

1. Estimate 5,642 X 3 using front-end estimation.

(A 12,000 15,000
© 16,800 - (@ 18,000

2. What number belongs in the box?

90+v(15—13)+6=D

@A 1 ®) 45 © 48 O

3. Of the 250 people at a concert, 160 are men. Half of the rest of the
people are children. What percent of the people are women?

@A) 9% 16% © 18% D 36%

4. In a race, a triathlete runs % of the total distance, cycles % of the total

distance, and swims the remaining distance. He swims 1,200 meters.

pore) Private Limited. Copying is permitted; see page ii.

What is the total distance of the race?

s @ 3,600 meters 4,500 meters
© 6,000 meters @ 7,200 meters

dich

5. 5boys made s doughnuts. They sold the-doughnuts for $3-each and-shared ——————
the money they made -equally. How much money did each boy get?

® $% 83 © $2E © $15s

© 2009 Marshall C
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6. Find the area of the shaded part of the figure.

, 36 in.

@ 112 square inches

180 square inches

20 in.
@ 360 square inches
@ 720 square inches
7. The graph shows the number of foreign stamps and local stamps 3 students
collected.
Stamps Collected
1005
903
804
s 603 Key 1
A 3 =
S 501 Foreign Stamps 5
] E Local Stamps é
§ 403 E
=z 3 g
30
- oo Tracy Janis .. Cracia z
Students 2
N

How many more foreign stamps than local stamps are there?
@A) 39 243 © 283 D 525
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e

Name:

10.

© 2009

Date:

AB and CD meet at O. Find the measure of Za. The figure is not
drawn to scale.

A) 143° 131° © s¢° ® s57°
Which solid has 4 rectangular faces and 2 square faces?

®

© ©

A tank that measures 40 feet by 36 feet by 18 feet is filled with water to % of

its height. 1§ of the water is poured out of the tank. How much water is left in
the tank?
A 25920 ft° ' 21,600 ft

(©) 14,400 2 (D)_7,200 ¢
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(10 X 2 points = 20 points)

Write your answer in the space provided.

1. Multiply 687 by 98.

12.  Divide 6.42 by 5. Round your answer to the nearest hundredth.

) 1 7 3
13. Find 6Z + 2-9- + 12.

) Private timited. Copying is permitted; see page ii.
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Name: Date:

Solve.

14.  Mr. Abdul buys 4 bags of charcoal for a barbeque party. Each bag

weighs 5% pounds. What is the total weight of the charcoal?

15.  Simplify 16f — 3f+ 9+ f—7.

- Solve. Use models to help you.

16.  The ratio of the number of red beads to the number of green beads to the
number of blue beads is 2 : 3 : 7. There are 150 more blue beads than red |
beads. How many beads are there in all?

© 2009
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Solve. Show your work.

17.  There are 3 different cameras and 5 different books. A teacher wants to give
1 camera and 1 book to a student. Find the number of combinations the
teacher can choose from.

18.  In the figure, ABCD s a parallelogram. Find the measure of ZDEA.

A B

122°

264 End-of-YearTest
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Name: Date:

Solve.

19.  Name the shape that the net will form.

20. The solid is made up of 2 rectangular prisms, A and B. Solid A is painted red.
Find the total surface area of solid A that is painted red.

7y 5cm
|

13 cm
10 cm A

* |
& e |

A
\ 4

9 cm

) Private Limited. Copying is permitted; see page ii.
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(Question 21 and 22: 2 X 3 points = 6 points;
Question 23: 4 points)

Solve. Show your work.

21.  Pritz made 7% pints of pineapple juice. She drank % pints of the juice, and
poured % of the remaining juice equally into 3 bottles. How much pineapple

juice does each bottle contain?

22. The rectangular tank shown is filled with water to % of its height. The water is -

then poured into the cubical tank until the cubical tank is half full. How much

water is left in the rectangular tank? Give your answer in liters. (1 L = 1,000 cm®)

16 cm
10 cm ,/}-" _______
N e 16 cm
24 cm
16 cm

166 End-of-YearTest
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Solve. Show your work.

23. A baker made cakes, cookies, and buns. Of the total number of baked
products he made, 28% were cookies. The number of cakes was 3 times the
number of buns. He made 270 cakes. He sold 40 buns and 120 cakes. How
many cookies must he sell so that the ratio of the number of buns left to the
number of cakes left to the number of cookies leftis 1: 3 : 27

) Private Limited. Copying is permitted; see page ii.
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Date:

Solve. Show your work.

1.

Paul has just enough money to buy either 5 erasers and 30 pencils or
10 erasers and 24 pencils. Each eraser costs $0.30. How much does each
pencil cost?

All the triangles in the following figures are equilateral triangles. In figure 2,
a smaller triangle is formed inside the triangle in figure 1 by connecting

the midpoints of the sides of the bigger triangle. Figure 3 and figure 4 are
obtained in the same way. The area of the biggest equilateral triangle is
128 cm?. Find the area of the smallest equilateral triangle in figure 4.

Figure 1 Figure 2 Figure 3 Figure 4

4168 End-of-YearTest
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Answers

1. value 2. compare

3. rounding 4,  front-end estimation

5. fifteen thousand, seven hundred thirty-two

6. 60,000

7. a. 40,000 b. 400,000

8. a. 76480 = 70,000 + 6,000 + 400 + 80
b. 620,315 = 600,000 + 20,000 + 300 +

10+ 5

9. a> b. <

10. 374,875 374,248 355410

11. a. 37,900 b. 56,400

12. 4,000 + 7,000 = 11,000
13. 10,000 — 3,000 = 7,000
14. 500 + 800 = 1,300

15. 900 — 400 = 500

16. 2,742 rounds to 3,000.
3,000 X 7 = 21,000
2,742 X 7 is about 21,000,

17. 700 X 9 = 6,300
800 X 9 = 7,200
6,502 is nearer to 6,300 than to 7,200.
6,300 = 9 = 700
6,502 = 9 is about 700.

18. a. Ms. Carlson has more money.
b. $7.145 — $7,100
$3,799 — $3,800
They have about $7,100 + $3,800
= $10,900.
19. 315 ft — 300 ft
175 ft — 100 ft
300 ft X 100 ft = 30,000 sq. ft

The area of the rectangular field is about
30,000 square feet.

. C 2. B 3. D 4, C
5 C

© Marshall (a

five hundred eight
b. 4,781,020 = 4,000,000 + 700,000 +
80,000 + 1,000 + 20
7. a< b. >

6. a. six-million, three_hundred twenty-six_thousand, ...

8. 2691 — 2,000
8,173 —» 8,000
4,724 —» 4,000
2,000 + 8,000 + 4,000 = 14,000
691 + 173 + 724 — 600 + 100 + 700
= 1,400
1,400 rounded to the nearest thousand is 1,000.
14,000 + 1,000 = 15,000
The estimated sum is 15,000.
9. 7,685 — 7,000
3,768 — 3,000
7,000 — 3,000 = 4,000
768 — 685 —» 700 — 600 = 100
100 rounded to the nearest thousand is O.
4,000 — 0 = 4,000
The estimated difference is 4,000.
10. 3,937.245; 4,937,445
Rule: Count on by 500,100.

11. 6,157 — 6,000
6,000 X 9 = 54,000
There are about 54,000 passengers in total.

12. 3,548 —» 3,200
3,200 + 8 = 400
Each crate has about 400 mangoes.
or 3,548 — 4,000
4,000 +~ 8 = 500
Each crate has about 500 mangoes.

expanded form - 2. multiplication facts
product 4. bar model
nearest 1,000

a. eight million, two hundred thirty-eight
thousand, six hundred fifteen

b. 8,000,000 + 200,000 + 30,000 +
8,000 + 600 + 10 + 5

7. 1=315+ 89 = 404

8. ?7=28614— 509 = 8,105
9. 7=8X15=120

10. 7 =294 + 7 = 42

11. 7=156 + 6 =26

o 0w o=

12. 8,000
14. 400 X 9 = 3,600
15. 800 X 7 = 5,600
16. 900 X 5 = 4,500
17. 200 X 8 = 1,600

13. 82,000
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18. 4 X 90 = 360
4 X 100 = 400
372 is nearer to 360 than to 400.
360 + 4 =90
372 =+ 4 is about 90.

19, 6 X 30 = 180
6 X 40 = 240
197 is nearer to 180 than to 240.
180 =~ 6 = 30
197 + 6 is about 30.

20. 198 = 5—» 200 + 5 = 40
Each crate has about 40 oranges.

21. 502
A
] \
‘ green I red
L A J
Y Y
? 185

7 =502 — 185

iC.

12.

3812 + 48 = 4,000 + 50
= (4,000 = 10) = 5
= 400 + 5
= 80
About 80 rows of seats are occupied.
Cost of one camera = ($8,153 + $847) = 100
= $9,000 + 100
= $90
$150 — $90 = $60
Tom earned $60 from selling each camera.

. $5,645 — $500 = $5,145

$5,145 = 7 = $735
He paid $735 each month.
a. 1,400 + 35 = 40
40 X $1.60 = $64
Jody paid $64 for the beads.
b. 1400 + 16 = 87-%

= 317
There are 317 green beads. She needs 88 small boxes.
22, 495
5 | 0
| 7 groaps 1. like fractions 2. prime numbers
7 = 405 + O 3. equivalent fractions 4. unlike fractions
=55 5. 3 7 6. a 2 b. L
Hector will need 55 envelopes. 1010 5 3
7. a 32 ) 8. 23 9. 9
02123253115
T 7'3"'7'8 78 8 3"3'8
. B 2. C 3. C 4. D
5 A 1. a b. 1
‘ 317 20)23
6. 2,356 X 700 = (2,356 X 7) X 100 15 20
= 16,492 X 100 Y 3
~ 10920 17 _s2 28 _ 3 ;
7. a 3 T3 20 ~ '20 Z
8093 IR I - g
X 56 R R Ak PR PR H
48558 5 1 1 g
' 18 5+ + = g
404,650 8 4 2 e
453,208 54,24 _ 11 _ 43 H
s T8 T8 "8 '8 :
8. 1620 X 68 = 1,600 X 70 . , 5 3 4 £
= 1,600 % 7 X 10 4 5-3=57 953 :
="11,200 X710 S
= 112,000 15.3—%—%=%_%_% 3
The area of the wall is about 112,000 square 14 z
centimeters. =%
=7
3
Y
=2
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5716 10 10 _ 10 '70

11.

12,

- 0|~

7 7 _1y_.7 19 _ 47 _
+ )=5 T35 = 38

lenny uses 1-13—16— gallons of water to water the

roses and herbs.

Julion poured 3% - ‘I%—-% ~—~573_
=1l -23,
3%+2%=%+%=%
653 L

62 =317
10L—655L=3551

bal 42 3% liters more water is still needed to fill
2 4 8 . the tank.
=3~ '8
8 8 o : .
5 1. simplify 2. improper fraction
- 1__
8 3. decimal 4, %; 1_48; —2—67
1 1 _
. - 18 = 183 6
~1T2 T3 6o 14 _1437_2
S 2.2y 10 3/~ 3/=7 5
; T 1 7. 3= 95=95 " 16" 16 = 215
E Gail sold % of the cookies on the two days.
: o .15 _12 .3
£ 0. 8-3)+8== 4 4 4
s 3
g =3+
g Each shorter piece of ribbon is % foot long. 3 4
s = 3—
£ 3 2y=1-22_ 0 4
C T TEEYTITE T 021220, 1
£ "5 T35 7
2 S of the land is used to grow tomato plants.
g 35 _ 1
2 =4t
g 5
% =4l
—43
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0, 5% =5 +%_ b. Method 1
=2+ g 71T E T
_ 27 =3 51
=5 8 X 12
' 3
3 _ 3X20 -3
105 = 5x20 916
60 =
100 32
= 0.6 Method 2
2 _ 2 X 36 3=l y3
_7 _ 143
== 2 X8
=3
96
=
32
7. in .
E in :
' : |
:ft cc:Yrd sc:ed T T T T . T i
) N Y B
14, 9 cupcakes —» $18 (-]
1 cupcake —» $18 = 9 = $2 ! .
6 cupcakes —» 6 X $2 = $12 i+8=£—x—1—=i=.1_m
6 cupcakes cost $12, 5 S 8 40 10
. 1
15. Teddy becrs:% X 18 = 6 Each piece is 755 meter long.
1 - 3 =7 =
Balls.6><18—3 8. 14><$8 4X$8 $14
Dolls: 18 =6 —3=9 $14 X 10 = $140
Kim has 9 dolls. ' He is paid $140 in 10 days.
16. 3 X 12 = 36 o S x -1
3 X 20 =60 4 3 4
Total number of colored pencils = 36 + 60 = 96 % X 5= % = 1-‘-11-
96 +8 =12

There are 12 colored pencils in each packet. His brother will take 117 hours to paint 5 similar

walls.

.$80><%=$48

$80 — $48 = $32
$32 +~ 5 = $6.40

She spends $6.40 each day.

) Private Limited.
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11. 1 6 w3 _6X3
" 1 ! 6. 55 X T =25x4
] H ? i - 18

A s \ 100

4 units —» 36

1
5 1 unit — 9
r ! 5 units =~ 5 X 9 = 45
1 ! Belinda uses 45 beads to make the bracelet.
! 2 .1 _ .4 . .3
i 18.1—3-4-2?——164-26
?
' 7
3L
_1_1_5 6
| 8 48 =34+ L
| 5 units —» 30 6
1 unit — 6 =34 1L
| 8 units —» 6 X 8 = 48 6
There are 48 pages in the book. = 4—-(13-
|
She baked 41? pounds of biscuits in all,
f L2 1
| 19. Width: 7 X = T
j 1. B 2. D 5 1
3. B 4 C Perimeter = 2 X (3 + ﬁ) =1m
\ 5 A 6. D The perimeter of the rectangle is 1 meter.
*! 7. A 8 A
“ . 20. 16
9. C 10. B 8)_1——3—5
} 11, 700,000 80
E 12. 124,678 52
g 13. 657 + 3 = 219 48
219 X $4 = $876 4
3 Billy must pay $876 for all the mugs. 132 +-8=16R4
2 14. 15 X 32 = 480 The travel company needs to book 17 boats.
480 =+ 16 = 30 21.1l><—2-+3—3—><-§
There are 30 people in each group. 2 3 S 6
‘ : 15. 3% + 94 =38 + 04 X3 =3xS+ E xg
= 8 5. 354 95 = 355 05— T 0 D -
1 3 =1+3
nha TR ST T
N 5 Patrick has 4 liters of purple paint.
- 12@ \ %3 /
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almonds pecans walnuts

12 units —» 300
1 unit —» 25
2 units —» 50
There are 50 walnuts in the bag.
23. $5,170 + $450 + $626 = $6,246
$6,246 + 2 = $3,123
Mrs. Jefferson had $3,123 — $626 = $2,497.
Mr. Jefferson had $3,123 — $450 = $2,673.

1. Strategies: Make a systematic list. Guess and

check.

2X3=6 8 X 4 =232 38
3X3=9 7X4=28 37
4 X3=12 6 X 4=24 36
5X3=15 5X4=20 35

> > {x|x

6 X3=18 4 X 4=16 34

Leslie has 4 square cards.

2. Strategy: Make a systematic list.

The least number of eggs the grocer had is
27 eggs.

4.2+ (7 —4)X3=2+3X3

=2+9
=11

15. (95 — 15) + 10 = 8

1.
5.
6.
7.
8.

0

10.

He needs 8 plastic bags.

3+ x—100
$60 — yor $(60 — y)
a. 17y + 8 b.—Z—TB-—.g—A:-l—Z
100x __ 100 X 9@
adx+ 3 50 = 50
= - 200
=4 X9 +3 =50
=36 +3 = 45
= 39
100x
4x+3@ 50
b. (100 — 2x) + 2 4 X (x+ 1)
=(100 —2X9 +2 =4X(O+1)
= (100 + 18) + 2 =4 X 10
=82+ 2 - =40
= 41

(100 - 20 + 23 4 X (x+ 1)
a. 18m — 52 = 5m
18m — 52 + 52 = 5m + 52
18m = 5m + 52
18m — 5m = 5m + 52 — 5m

13m = 52

13m + 13 =52 + 13
m=4

b. 4p + 8 = 12p — 16

4p+ 8+ 16 =12p — 16 + 16
4p + 24 = 12p
4p + 24 — 4p = 12p — 4p

| (Singapore) Private Limited.

1. inverse operations 24 = 8p

2. equal; greater than; less than 8p = 24 £

3. order of operations 8p + 8 =724 + 8 |

4. < 5 = p=3 3

6 < 7 > 11, a3 X p=3p g
3p+ 2 @

8 9 9. 32 32 Cheryl has 3p + 2 oranges.

10. 12 11. 76 b.3p+2=3X6+2

12. 140 13. 24 =20

174 Answers

Cheryl has 20 oranges.



12 a lfy =3,

C
(X

Erne—» 3y +4=3X3+4=13
Gladice —» 4y = 5 =4 X 3 ~5=7
Ernie read more books.

b. 3y+4=4y—-5
3y+4+5=4y—-5+5
3y + 9 =4y
3y+ 9 — 3y =4y — 3y
9=y
y=79

When y = 9, both of them will read the same
number of books.

area 2. square units

triangles 4, formula

a. obtuse angle
b. right angle
c. acute angle

b

48 cm? 10. 12 in2
175 fe 12, 81 yd?
680 m?

3mX2m=6m?

The garden’s area is 6 square meters.

6.
7.
8.
2 9.
3 1.
Y 13.
z 14,
J r 15.
Q

10.

1.

12.

Area of land = 50 X 50 = 2,500 m?
Area of land and footpath = 56 X 56
= 3,136 m?

Area of footpath = 3,136 — 2,500 = 636 m?
The area of the footpath is 636 square meters.

__numerator;-denominator

Base: D-mC_

Height: BD

Area of triangle CDE = % X base X height
=1 X24mx24m
= 288 m?

Area of the shaded triangle

= % X base X height

= % X 20 cm X 5 em

= 50 cm? _

Area of the rectangle = 15 in. X 20 in.

= 300 in2
Area of the 2 triangles

=L X 8inX15in + -+ X 6in X 15 in.

2 2
= 60 in2 + 45 in?
= 105 in?
Area of the shaded part = 300 in? — 105 in2
= 195 in?

Area of the rectangle = 8 cm X 9 cm = 72 c¢m?

Area of the unshaded triangle

=%><_8cm><9cm=36cm2

Area of the shaded part of the figure

= 72 cm® — 36 cm?

= 36 cm?

Length of the rectangle = (60 — 24) + 2
=18m

Area of the rectangle = 18 X 12 = 216 m?

Area of the shaded part of the figure
=216 = (£ X 18X 8) = (£ X 12X 4)
120 m?

I

bar model

o L ®
ONs!

2 out of 7 parts 6. 8 out of 9 parts
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° _3
7. 1= 7 8.

olr\)

O &
Il

ufro

9. From the model,
5 parts — 30
1 part — 6
8 parts — 8 X 6 = 48
3 parts —» 3 X 6 =18
A= 48 B =18

22 7
22 X 2 =44

Tom has 44 more stamps than Lisa.

10.

11.

12.

oldest

middle

youngest

4 units —» 12 years
3 units = (12 =+ 4) X 3 = 9 years
The middle child is 9 years old.

Ken |

John

L H

64 ks
a.5:8
b. 8 units —» 64 kg
3 units —» (64 + 8) X 3 = 24 kg
John is 24 kilograms heavier than Ken.

pink [

blue |

1. A 2. C 3. B 4, D al:4
5 C b. 5 units —= 5 m?
6.  Number of black beads = 7 + 12 + 9 4 units —= (5 + 5) X 4 = 4 m?
= 0§ The area of the part of the door that is
Number of white beads = 9 + 3 + 4 painted pink is 4 square meters.
=16 ,
2 -7 . C 2C 3 A 4 A
The number of black beads is 2 times the 58 &«D 7 C 88
number of white beads. 9. D 10. B
- 1. 4,192,560
7. 5:14}):9=[15{:12:27 Y '
12. 6,315 — 6,000
8. computer ‘ 72 — 70
o 6000 X 70 = (6000 X 7) X 10 _
= 420,000 z
The ratio of the time Ron spends reading to the ) L . %
 time he spends on the computer to the total time 13. 32+ (5+35)—21+7 _ +5-21+7 g
he spends on both activities is 1: 2 : 3. ~ ;sz +5-3 ?
> 4 4,1 _ 4 :
14.—5—+20=—5—X—2‘6=m=0.04 %
15. s12 g
S-units =15~ s [ é
1 unit—= 15 + 5 =3 o [ T ] E
Total number of units = 3 + 5 + 2 = 10 1 unit — $12 =

10 X 3 =30
There are 30 fruits in all.

176 Answers

3units o 3 X $12 = $36
The radio costs $36.
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Aich

16.

17.

18.

19.

20.

22 + 24k =242 + 25
-_-4%

Tt takes 5—1% hours to complete both projects.

Area of the rectangle = 10 ecm X 24 cm
= 240 cm?

Area of the unshaded parts
=2 X (4 X 5em X 12 cm) = 60 e’

Area of the shaded part = 240 cm?® — 60 cm?
= 180 cm?

Pens —» x

Rulers —» 5 X x = 5x

Pencils — x — 3
x+5x+(x—=3)=7x—3
They sold a total of 7x — 3 items at the carnival.
Sandy's age : Tammy's age = 1: 4
Jim's age : Tammy's age = 2:1 = 8:4
Jim's age : Tammy's age : Sandy's age = 8 : 4 : 1
The ratio of Jim's age to Tammy's age to Sandy's
ageis 8:4: 1.

Area of triangle PQR = —12— X 15 in. X 36 in.

= 270 in?
Area of triangle QRS = —12- X 15 in, X 16 in.
= 120 in?
Area of the shaded part = 270 in? — 120 in2
= 150 in2

10 3 |$2.50 + $0.30 = $2.80

60 18 |$15 + $1.80 = $16.80

80 24 |$20 + $2.40 = $22.40

X
X
70 21 [$17.50 + $2.10 = $19.60 X
v

© Marshall ¢

22.

There are 80 quarters and 24 dimes.
2 boxes of crayons — $18 — $10 = $8
1 box of crayons —» $8 + 2 = $4
3 erasers — $10 — $4 = $6
1 eraser — $6 + 3 = §2
1 box of crayons and 1 eraser — $4 + $2 = $6
1 box of crayons and 1 eraser cost $6.

23. 2 of the books are fiction books.

5
So, 1 — —g— = % of the books are non-fiction books.

Total number of fiction mystery books

=2 %l -2
S5 X575
Total number of non-fiction mystery books

=1
375
L
25

575 of all the books in the shop are mystery
books.

Strategy: Simplify the problem.
Area of the whole figure = 15 X 15

= 225 cm?
Area of the shaded part = 5 X 5
= 25 cm?
Area of the unshaded part = 225 — 25
= 200 cm?

The area of the unshaded part of the figure is
200 square centimeters,

Strategy: Draw a diagram.

2a
5
f——k—\
L] L] . . - . L] L] . L]
st 4t 10th
tree tree tree
. _ 3 -
Distance between each tree = T T 3= Tm

Distance between 1% and 10" tree =

The distance between the 1¥ tree and the

10* tree is 1—% meters.

tenths 2. hundredths
nearest whole number

nearest tenth 5.  decimals
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10.

1.

12.
14.
16.

18.

a 1.7 b. 10.18

a 1.6 b. 3.28
413 5. 92
3 _ 15
= = — = 0,15 3
20 ~ 700 3
17 _ 17
3l =3+ 1
L. 34
=3+ 706 o
= 3+ 034 = 334
327 13. 5 52
10; 9.6 15. 1; 1.0
8 7.9 17. 3,30

0~ Z0X5 100 - 02m

0.55 m is about 0.6 m.
The length of the remaining piece of ribbon
is about 0.6 m.

AN

\/

12. 6.149 rounded to the nearest tenth is 6.1.

1.
3.
5.
7.

10.
11.
12.
13.

14.

16.

17.

6.150 rounded to the nearest tenth is 6.2.

So, the shortest possible height of the vase is
6.150 feet.

multiplied by 10 2. divided by 1,000

estimation 4, 370
13,600 6. 85,000
02 X 30 =92 X (3 X 10)

= (92 X 3) X 10

= 276 X 10

= 2,760

381 X 500 = 381 X (5 X 100)
= (381 X 5) X 100
= 1,905 X 100
= 190,500

76 X 8,000 = 76 X (8 X 1,000)
= (76 X 8) X 1,000

= 608,000
640
39
8
540 + 90 = (540 + 9) + 10
=60 + 10
=6
6,300 + 700 = (6,300 + 7) + 100
= 900 + 100
=9
. 72,000 =+ 8,000 = (72,000 + 8) + 1,000
= 9,000 + 1,000
=9

623 rounds to 600.

59 rounds to 60.

600 X 60 = (600 X 6) X 10
= 3,600 X 10
= 36,000

623 X 59 is about 36,000.

9,842 rounds to 9,800.
36 rounds to 40.

A
0.00 0.01 0.02 0.03 0.04
: 18
= 5 ones and 1 hundredth 8 thousandths
= 5018
349
> 27500
= 2 ones and 3 tenths 4 hundredths
@ thousandths
= 2.349
8 3178 36 6.63 10.1
9. 8275 =8+ 02 -+ 0.07 + 0.005
10. 1.650 rounded to the nearest tenth is 1.7.
1.649- rounded -to-the-nearest-tenth-is—1-6:
So, the greatest possible decimal is 1.649.
_ 850 , _
11. 850 mkL = 7000 L=085L
1200 mL =12 L
12L4+085L=2051L
She makes 2.05 liters of fruit punch.
178 Answers

) Private Limited.

Sdp

1 si

Aty

9,800 40"=(9,800~+4) 10
= 2450 + 10
= 245

9,842 + 36 is about 245.

© Marshall G
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19.

N oo~ N

10.

$7.65

—
16.25
buttons E $ '

f 1

fabric r | J

a. $7.65 + $16.25 = $23.90
Suzanne paid $23.90 for the items.
b. $50 — $23.90 = $26.10
She got $26.10 in change.

a. 208 X 50 = 208 X (5 X 10)
= (208 X 5) X 10
= 1,040 X 10
= 10,400
There are 10,400 roses in all
b. 10,400 + 20 = (10,400 = 2) + 10
= 5,200 + 10
= 520
He needs 520 boxes

B
C
A
D
C

a. 1,000 b. 100
S 2
6.84

X 7

47.88

a. 23.63 rounds to 24.

15.3 rounds to 15.

24 + 15 = 39

23.63 + 15.3 is about 39,
b. 17.85 rounds to 18.

9.49 rounds to 9.

18—-—9 =9

17.85 — 9.49 is about 9.
5m+8=0625m

0.625 rounded to the nearest hundredth is 0.63.
Each piece of rope is about 0.63 meter long.

1.0651b X 8 =852 b

© Marshall C

11.

15 lb-—8:52-1b-=-6:48-b

? (32'0 bills)
$27.90 is about $30.
3 X $30 = $90
~The total cost of 3 chairs is about $90.
$90 + $20 = 4.5
He needs at least 5 $20 bills to buy the chairs.

1. 2. decimdl

3. 4,  equivalent; denominator
5 028 6. 073

7. 45 8 2

9. 3,40 10. 79; 100

11. 58; 100 12. 32, 100

6.48 pounds of flour is left after 8 days.

Cost of 2 pounds of grapes = 2 X $2.49
= $4.98

Cost of 3 muffins = 3 X $0.75 = $2.25

$4.98 + $2.25 = $7.23

He paid $7.23 for the grapes and muffins.

1625 = 25~ 700
14 3
17. =+ 18 2
i 4
19. & 20. 4
21,
% 50
100
:I"l:'l‘:l:llll:lll 4 lI%IIIPIIl:llll:l"I:lIll:llll:l|||:||||=||"="||=Illl=l"l%] >
0 0.10 0.20 0.304040 0.50 0.60 0.70 0.80 0.90 A1.00
é
22:"'3’0’0’5E*——f’ggd?’o;s”kg

14 kg + 03 kg = 1.7 kg
The mass of the mixture is 1.7 kilograms.

23. 24 — (1.75+02) =045 L

_ 45 _9
045L = 100!.— 20L
220 liter of lemonade is left,
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12. 100%
f 1

1, D 2. A 3. C 4. B regular price
5 D sole price
o — 45 _ 45+5 _ 9
6. 45% =766 = 700 =5~ 20 _—
7. Total number of people = 200 @ etoo 1
Number of women = 200 — 80 = 120 100% — $1,200
120 _ 60 . 1% —» $1,200 + 100 = $12
200 ~ 700 ~ 90% 12% —» 12 X $12 = $144
60% of the people are women. The dollar amount of the discount was $144.
8. Total number of students = 680 Method 2
Number of girls = 55% X 680
55 Discount = 12% of regular price
= == X 680 12
100 = —= X $1,200
= 374 100

= $144
b. $1,200 — $144 = $1,056
The airline ticket cost $1,056.

Number of boys = 680 — 374 = 306
374 — 306 = 68
There are 68 more girls than boys.
9. 100% — 75% — 12% = 13%
13% are green beads.

100% 7%
A

13% —» 104 beads v
1% —» 104 + 13 = 8 beads $?
12% —» 12 X 8 = 96 beads 100% — $1,056
Lucy has 96 blue beads. 1% —» $1,056 +~ 100 = $10.56
10. 100% —» $3,500 7% —» 7 X $10.56 = $73.92
1% —» $3.500 < 100 = $35 $1,056 + $73.92 = $1,129.92
79% —» $35 X 72 = $2,520 Mr. Sims paid $1,129.92.

He spends $2,520.

$3.500 — $2,520 = $980
25% of $980 = $245

He saves $245.

; s s 1. B 4, C
980 — $245 = $735
Mr. Daniels’ rent is $735. > A 8 ¢
9. D 10. B g
11. 20% 80% z
. * 11. 3 tens and 25 thousandths = 30.025 %
9675 £
(W 12. —==7x = 9.675 =
$5,460 1000 3
$5.460 X 8 = $43,680 9.675 is nearer to 10 than to 9. £
80% > $43,680 ' So, 9.675 rounds to 10. 3
43,680 - _ 65 _ 13
1% —» 33880 _ g546 | 13. 7065 = 7600 ~ 7200 J
20% — $546X-20-=-$10,920 14. 900 x 3168 67 £
Cost of the car = $43,680 + $10.920 = (100 X 9) X 3.168 3.168 z
= $54600 = 100 X (9 X 3.168) X ) £
The car costs $54,600. = 100 X 28512 28.512 ©
= 28512

15. 6.24 + 10 = 0.624
624 + 1,000 = 0.624
So, 624 + 10 = 624 + 1,000

1890 Answers
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16. 8.75 pounds rounds to 9 pounds.
36 rounds to 40.
Weight of 1 chicken drumstick

=91l + 40
-2
40
_ 9X25
40 X 25
_ 225
1000
= 0.225 b
Each chicken drumstick weighs about
0.225 pound.
17. Number of non-school holidays in April
=30—6=24
2% X 100% = 80%
80% of the days in April are not school holidays.
18. 15% of $360 = -3 X $360 = §54
18% of $720 = 15 X §720 = $129.60
Difference = $129.60 — $54 = $75.60
19. 21L ?

42% —» 2.1 L

1% —» 2.1 = 42 =0051L
58% —» 58 X 0.05 = 29 L
Leon used 2.9 liters of brown paint,

20. [T T T Joo

vy [ [ T T T T [ | [ Joem
Suresh r ‘ |35%
i\ Y A . J
spent left
3 o =3 35 _105_ 21 _ 54
5 X 35% =5 X356 =500~ 100~ 2%

Suresh spends 21% of the total amount of money.

35% — 21% = 14%

Suresh has 14% of the total amount of money left.
21.

0.18 qt

© Marshall G

22. 9.45m

first piece second and'third pieces
5 units —» 945 m
1 unit — 1.89 m
4 units —» 7.56 m
The second and third pieces of rope were

7.56 meters long.
. 012m

second piece

third piece

756m —012m= 744 m
2 units —» 744 m

1 unit — 3.72 m
372m + 0.12m = 384 m

The second piece of rope was 3.84 meters long.

100% 7%
A

f V$\

A4
$120 $?

100% — $120
1% —» $120 +~ 100 = $1.20
7% — 7 X $1.20 = $8.40
The tax was $8.40.
b. 15% — 15 X $1.20 = $18
The tip was $18.
c. Total cost of the meal
= $120 + $8.40 + $18
= $146.40
$146.40 + 5 = $29.28
Each of them had to pay $29.28.

1. Strategy: Make logical deduction.
Volume of 9 bottles = Volume of 12 pails
Divide both sides by 3:
Volume of 3 bottles = Volume of 4 pails
Volume of 3 bottles and 5 pails
= Volume of 4 pails + Volume of 5 pails

—
coni&ﬁxér’] f ) i ! 4]
———— 215 qt
jug 1

5 parts — 2.15 gt
1 part = 2.15 + 5 = 0.43 gt
4 parts —» 4 X 043 = 1.72 qt
172 gt + 018 gt = 19 qt
There were 1.9 quarts of oil in the container at first.

21.6 L = Volume of 9 pails

Volume of 9 pails = 21.6 L

Volume of 1 pail = 21.6 + 9
=241

The volume of 1 pail is 2.4 liters.
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2. Strategy: Draw a model.

40% 50% 10%

A A A
f Y Y oo
R A B
B —

6 min.

100% — (50% + 40%) = 10%
10% —» & min.
100% —» 6 X 10 = &0 min.
60 min. = 5 = 12 min.
Pauline should have spent 12 minutes on each ques-

tion.

1. mean 2. table; tally chart
3. graph 4,  probability
5. more likely 6. impossible
7. a
Cookies Sold in a Week
60

Number of Boxes

b. Saturday

8 12kg=1200¢
Total mass of the 4 objects
=45g+ 76g+ 103g+ 1,200 g
= 1424 g
Average mass = 1,424 g +~ 4 = 356 g

. less likely

a
b. impossible
c. certain

d

. less likely

11. a. 19 quarters

b.24 — 15 =29
He saved 9 more quarters in Week 2 than in
Week 1.

c.15+24+ 19 + 30 =88
He saved 88 quarters in 4 weeks.
d. 88 X 25¢ = 88 X $0.25 = $22
Bob saved $22.
e $22 = 4 = $5.50
He saved an average of $5.50 per week.

12. Total amount of water in the 5 containers
= mean amount of water X number of containers
=620mL X 5
= 3,100 mL
Amount of water in the fifth container
= 3,100 mL — 2,750 mL
= 350 mL
The amount of water in the fifth container is

350 mi.

3. A 4, D

6. a. George: $32 + $25 + $40 = $97 .
Henry: $36 + $34 + $29 = $99
Henry made more money.
b. $99 — $97 = §2

He made $2 more.
7. y

o .

1

O = N W » U O N 0
PN S B fl

01 2 3 4 5 6 7 8 9 10

8. 7 meters

5 @ 9. Flavors Topping Combinati
b, & = =< T _peanuts  strawberry, peanuts
6 strawberry <
raisins strowberry, raisins
peanuts chocolate, peanuts
3 ice cream chocolate <
c. E. = == raisins chocolate, raisins

182 Answers

peanuts vanilla, peanuts
vanille <
raisins vanilla, raisins

The shop can offer 3 X 2 = 6 combinations.
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10. a. Number of times a black ball is drawn
=50 —15—-26=9
Experimental probabilit

b. Theoretical probability =

1
Z
Experimental probabilit
26 1 _ 52 _ 25 _ 27

50 4 700 100 100
The difference between the theoretical probability
and the experimental probability of getting a

.27
green ball is 100"

11. From the graph,
45 ft — 15 yd
72 ft —» 24 yd
Area of land = 15 yd X 24 yd = 360 yd?
The area of the rectangular plot of land is
360 square yards.

12. a
Meat dish [

/ roast turkey <
fried chicken salad
broceoli
long beans
beef steak < salad

broccoli beet steak, broccoli

table dish Combinations

leng beans roast turkey, long beans

salad roast turkey, salad

broceoli roast turkey, broccoli

long beans fried chicken, long beans

menu

fried chicken, salad

fried chicken, broccoli

beef steak, long beans

beef steak, salad

She can choose from 3 X 3 = 9 combinations.
b. Ms. Spencer can choose from 4 X 3 = 12

1.

12.

A 2. B 3 C 4, D
C
86° + x + x = 180°
x + x = 180° — 86°
2x = 94°
x = 94° + 2 = 47°
mip + 63° + 90° + 78° = 360°

msp + 231° = 360°
mfp = 360° — 231°
= 129°
mZa + 90° = 137°
.mla= 137" — 90° = 47°
m/.ABC = 90°
m/EBF = mZ ABD = 90° — 45° = 45°

The measure of ZEBFis 45°.
ml.p + 90° + 90° + 125° = 360°
msp + 305° = 360°
mip = 360° - 305°
= 55°
mlp+ 71°+ 90° + mlqg + 90° + mLr
= 360°
mlp + miq+ milr= 360° — 251°
= 109°
m{ DBH = 180° — 90° = 90°
m CBD = 90° — 45° = 45°

mZ CBH = 90° — 45° = 45°
m/lCBG = m£CBH + 2 = 45° + 2
= 22.5°

m{.DBG = 45° + 22.5° = 67.5°
mL FBE = m/DBG = 67.5°

combinations.
g 1. polygon 2. vertices
E 1. line; points 2. line segment ) .
T 3. triangles 4, quadrilaterals
3 3. rays; angle 4, perpendiculor lines ) . )
g 5 A | P | 5. trapezoid 6.  inequality
e . rignt . ints; i
; r'lg ange points; fine 7. a.rectangle b, parallelogram  c. rhombus
7. l'_nf segm_e:t; ray d. square e. triangle f. trapezoid
£ 8. EFand CD 8. three 9. equdl
E 9. a4 b. 360° 10. parallel 11. opposite
% 10. 12. one
s 13. greater than; less than
[}
1. LTUV or LVUT 12. £LBOC or LCOB 14. aami_g + mL_p = 180° or

13. 65° 14, 125°
15. Measure of Lx = 90° — 12° = 78°
16. Measure of Ly = 45° — 18° = 27°

Il

mi.q + miL x;ml x + mi DOB;
mtL p + ms_DOB

b.m/x+ m/_y + mL z = 180°
cemip+ml_y + ml z =180°
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15, <

16. =

17. > 18. rhombus
19, trapezoid

5.

10.

1.

— i

A 2. B 3. D 4. C
A

mZ ABC + m£BAC + ms£ACB = 180°
52° + 65° + mLACB = 180°

m/LACB = 180° — 52° — 65°

= 63°
m/.BCD = 180° — 63° = 117°
mZ.a + 30° + m£BCD = 180°
mla+ 30°+ 117° = 180°
mla+ 147° = 180°
mla= 180° — 147°
= 33°
a. mLACB = 180° — 69° — 90° = 21°
ms BAC S mLACB
b. 69° — 21° = 48°

m£.BAC is greater than m£ZACB by 48°.
m/. CED = 90° — 60° = 30°
mla = mLCED = 30°
mZ BCE = (180° — 56°) + 2 = 62°
m/ ABC = mZADC = 84°
mLABE = 62° + 84° = 14¢°
m/ ABC = mLADC = 76°

.mLCAB = (180° — 76°) + 2 = 52°

m/ BAE = 180° — 52° = 128°

m/ ABE = (180° — 128°) +~ 2 = 26°
mi.a = 360° — 26° — 76° = 258°

m{ CAD = 52°

mib = 180° — 52° = 128°

£35° + £73° + mla+ milbh + mlc+
mid = 180° + 180°

£108° + mlLa+ msLb + mlc+ mld
= 360°

mla+ mlb+ mlc+ mid

= 360° — 108° = 252°

The sum of the measures of Za, £b, Zc, and
Zdis 252°.

1.
3.
5.
6.

10.
1.
12.

1.
3.
6.
7.

10.

11.
12.

plane figure 2.  vertices
pentagon 4, pyramid
congruent

The plane ﬁg;.:res are B, C, D, and F.
The solid figures are A and E.

sphere 9. cone

cube, rectangular prism, or pyramid
AB// CD or AD /I BC
Band E,Dand H, Cond G

B 2. C 3. D 4. D
A

rectangular prism

E tnclngular face
squure buse

It does not have any flat, triangular faces.

a. 10 edges and 6 vertices

b. The base is a pentagon. The faces are triangles.

O
O

Aand C

square pyramid

mL EDB="mZEAB="110

m/.DBE = (180° — 110°) + 2 = 70° =+ 2
= 35°

mZ.BDC = 180° — 110° = 70°

m£. CBD = 180° — 70° — 55° = 55°

ml EBC = 360° — 35° — 55° = 270°

The measure of £LEBCis 270°.

184 Answers
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1.
3.
S.
7.
9.
1

11.

12.

square prism

triangular prism volume

capacity area, formulas

S

triangular prism cube or square prism

rectangular prism

. a. The volume of the juice in the jug is 3.5 quarts.

b. The capacity of the jug is more than 5 quarts.

%x30L=20L

The volume of the water in the tank is 20 liters.
Area of the bathroom floor = 2m X 2m = 4 m?
Area of the bedroom and study floor
=8mX2m

= 16 m?

Area of the living room floor

=6mX3m

=18 m?

Total area = 4 m? + 16 m? + 18 m? = 38 m?
The total area of the floor of the apartment is
38 square meters,

11,

12.

Capacity of the tank = 320 X 160 X 200
= 10,240,000 cm®

Volume of water in the tank

= 2 X 10240000

= 7,680,000 cm®

Capacity of a small container = 16 X 16 X 5
= 1,280 cm®

Number of containers filled with water from the

tank

= 7,680,000 cm® + 1,280 cm®

= 6,000 ,

The water from the tank can fill 6,000 small

containers.

Capacity of the tank = 30 X 30 X 50

= 45000 cm® = 45 L

%X45L=36L

The tank is filled with 36 liters of wcuter;
6L — 1 min

36L—» 36 6 = 6min

Tt will take 6 minutes to fil % of the tank
with water.

Chapter 2

1. C 2. C 3 8B 4, D
5 B 1. 24,900 2. 185,000
6. 9 cubes are used to build the solid. 3. 320,000 4, 5,700,000
7. 5 72 6. 48
) 7. 320 8. 324
Chapter 4
1. 56 2. 30 3. 63 4, 32
% ’ 5. +1losxo
H 8. Total surface area of the triangular prism ' 9
£ 1 = 45
=4 =2X15X16+2X = X17X12 +
17 X 16 2 He can make 45 sandwiches with 5 cans of
g = 056 em? strawberry jam.
- 9. length = 12 X 2 = 24'in. 6. 6+%=6X5
Volume of wood = 12 X 24 X 85 - 30
3 = 2,448 in3 S - e 30 of
_ The volume_of the_block of wood_is 2,448 € can maxke pies.
% cubic inches, ' 7. 9-5=4b
g 10. Volume of water in the container 4+ - 4 X3

=0 X 12 X 23 = 2484 cm® = 2,484 mL

2484 ml X % = 1,656 mlL

2484 mL — 1,656 mL = 828 mL
She must pour out 828 milllliters of water from
the container. .

3
=12
He puts sand into 12 fish tanks.
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8 7—3=4cups
1

4 + T 4 X8
= 32
She makes 32 blackberry tarts.
Chapter 6
2o SyRa e 4 42’
Chapter 9
1. 39 2. 2504 3. 1,826 4. 9750
Chapter 11 '
1. X
X
X X X
X X X X
X X X X X X
i1 03 1 5 3
8 4 8 2 8 4
Volume of Water in Tanks (gal)
Key: Each X stands for 1 tank.
2. 7 gd 3. 17—5 gal
Chapter 15
1. 912 2. 459 m?
3. 2272ind 4. 6,048 cm®
5. 740 cm? 6. 4,059 in?
7. 5040 in3 8. 83200 cm®
1. B 2. D 3 C 4. B
5 A 6. C 7. A 8 D
9. B 10. C
11. 2
687
X 98
5496
61,830
67,326

12.

13.

14.

15.
16.

17.

18.

19.
20.

1.28 4
5)6. 4 2
2
1 4
1 0
42
40
20
20
0
1.284 rounded to the nearest hundredth is 1.28.
1 va 3 _ 7 — 10L
64+29+14 8+29 109
INVURERTS
52X4—— 5 X 4
_11X4 _44 _
= 5 =5 22 Ib

The total weight of the charcoal is 22 pounds.
14f + 2

* red beads

green beads

blue beads

5 parts —» 150
1 part —» 150 + 5 = 30
12 parts — 12 X 30 = 360
There are 360 beads.

Number of combinations = 3 X 5 = 15

The teacher can choose from 15 combinations.
m/ADC = 180° — 122° = 58°

mZADE = 58° + 31° = 89°

m/.DEA = (180° — 89°) + 2 = 455°
rectangular pyramid

Area covered by a face of solid B

=3 X 4 =12cm?

Surface area of solid A — 12 cm?

=2X10X9+2X10X(7+4)+
2X 9O X(74+4)—12cm?

= 586 cm?

The total surface area of solid A that is painted

red is 586 square centimeters.
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dich

21,

22,

23.

2 _5
Amount of juice left = 7 3 2

= 62

=6 3 pt
Amount of juice poured into 3 bottles
—62 x 3 =5l
= 66 X 7 5 5 pt
Amount of juice in each bottle
It
= 58 =3 =1 >a pt

Each bottle contains 1% pints of pineapple juice.

Volume of water in the rectangular tank

=24><12><1o><—‘5"—

= 2304 cm® = 2,304 mL
Volume of water used to fill the cubical tank

=16><1o><1o><1§

= 2,048 cm® = 2,048 mL

Volume of water left in the rectangular tank

= 2304 — 2,048 = 256 mL = 0.256 L
0.256 liter of water is left in the rectangular tank.

Number of buns baked = 270 + 3 = 90
72% of baked products —» 90 + 270 = 360

1% of baked products —» 360 + 72 = 5
28% of baked products —» 5 X 28

= 140 cookies

Number of buns left = 90 — 40 = 50
Number of cookies that should be left
=2 X 50 = 100
Number of cookies that need to be sold
= 140 — 100 = 40
The baker should sell 40 cookies so that the
ratio of the number of buns left to the number
of cakes left to the number of cookies left is

1:3:2

Strategy: Make logical deduction.

Cost of 5 erasers and 30 pencils

= Cost of 10 erasers and 24 pencils

Subtract 5 erasers from each side:

Cost of 30 pencils = Cost of 5 erasers and
24 pencils

Subtract 24 pencils from each side:

Cost of 6 pencils = Cost of 5 erasers

Cost of 5 erasers = 5 X $0.30 = $1.50

Cost of 1 pencil = f’ij_g_g. = $0.25

Each pencil costs $0.25.

Strategy: Simplify the problem.

Area of each small triangle in figure 2

= 128 cm® +~ 4 = 32 cm?

Area of each smaller triangle in figure 3

= 32cm? + 4 = 8 cm?

Area of each smallest triangle in figure 4
=8cm?+ 4 =2cm?

The area of the smallest equilateral triangle
in figure 4 is 2 square centimeters.
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